M)
Ok
oA
rz
a=

%4
R

=
mEAY: 20213 FEH Mell54 U 55N (G B))
T B £ 3 R 5 -2
T 3 A H %652,309,710 W637,177,710 -¥15,132,000
3= 7t ¥4 #559,336,364 545,580,000 -#13,756,364
=
= I 7R M ¥55,933,636 54,558,000 -¥1,375,636
H|
EZ 3 AY| W615,270,000 ¥600,138,000 -¥%15,132,000
2 X Xy ¥%37,039,710 ¥37,039,710 Wo
SMNEE R SMNEE F R A < Xt
& & 85X > F MENMEBCH F o2 MEA ZYR ZYOR 1462 35
y 2 i xF 53 YHB: SULFTEAYL F3A
i ""“ :3.5}(
4 o of W 2 (2 4 o AsH (9 o = 2 8 Ao
\v
1




0
i)
ot
bt

Hi
oH

= (A AH W 9 A
—e
o = o — — SHEE : HA (KA
M =2 Hl 2 Al
z =9 2 s o 5,2 oD
3t =L =) =L £ =L =) Zo
W2021H HSH MHSY L S3HAY
169,374,918 81,613,872 321,796 251,310,586
1. ATHS A 1.00 4 0
169,374,918 81,613,872 321,796 251,310,586
138,700, 147 25,311,099 2,034,149 166,045,395
2. NES3A 1.00 Al 0
138,700, 147 25,311,099 2,034,149 166,045,395
3,449,005 112,148 22,285 3,583,438
3. ZEIA 1.00 A 0
3,449,005 112,148 22,285 3,583,438
- - 5,215,516 5,215,516
4, RUSA 1.00 Al 0
- - 5,215,516 5,215,516
311,524,070 107,037,119 7,593,746 426,154,935
KESESEEYNL:] 0
311,524,070 107,037,119 7,598,746 426,154,935
14,557,048
1) 2 E =24l 13.6 % A& L 2H|*13.6% 0
14,557,048
4,498,984
2) MHEEE 3.7 % (R PH+2LE =2 H])*3.70% 0
4,498,984
_ 1,228,101
3) 12 1.0 % (MY C-RPHH+2AHE =2HI)*1.01% 0
1,228,101
3,671,373
4) ALBEE 3.4 % NE - 2HI*3.43% -3,472,623 AANESH FHt
198,750
4,816,670
5) A3LEZ 4.5 % HE L 2HI*4.5% -4,752,320 AAESH Fo
64,350
422,942
6) LoMIQYEEE 1.5 % ALEES+11.521% -400,062 AAESH FHot
22,880
2,461,853
7) SRS A2 2.3 % AT L= R2H[*2.30% -2,104,353 AAESH F4
357,500
8) IESUSXNSES++2 0.1 % (MSHH+HEE - PHI+AtEZHI)*0.081% : 0
_ 767,078
9) HEIIAHUOS NSESHLSH 0.2 % (H2HHEE = RHI+ArE ) *0.18% -568,928 AAIZSSH F4t
198, 150
2,060,000
1.2 % a. E=b. E 2 3% =g 0
2,060,000




At SGX(E3)
= o (H A L 9 A
© = \o = o St HACEA)
M E [ i g
2z g 7 2 g oy 5,2 B 3
2t = et 3o et 2o et =
5,352,660
10) ar@iotE B2 22| H| 1.2 % a (HEHHEECQUHESTBS/1.1)+1.2% 0
5,352,660
6.027.281
1.2 % b. (THHI+EZE = 2H| )1, 2% 1. 2H) 0
6,027,281
550,000
1) sy 0.3 % (THS B4R E = R+ E 2 H])+0.3% 0
550,000
32,483,867
12) JIEF) 7.5 % (HEHHEE = RH+2HE = 2] )+7. 5% 0
32,483,867
493,672,851
®=2AR} % -11,298,286
482,374,565
29,620,371
13) Yerzelyl 6.0 % (=2 APHI*6%) 677,898
28,942,473
14.8 (& DAFHI-TH 2 HI+2 8+ 2 2] H] )*14.8022% 31,346,492
wo = % ~1,780, 180
14.8 (£ AHHI-THS HI+Q BH 221 H] )« 14.7985% 29,566,312
3,796,650
15) HoI2H 2l 0
3,796,650
PP e ===t Al 900,000
m)gﬂgf;ma clAl Phe aes 0
Sl YU 900,000
559,336,364
®z 2 o o ~13,756,364
545,580,000
55,933,636
17) SAANTIA 10.0 % -1,375,636
54,558,000
615,270,000
SE DA -15, 132,000
600, 138,000
30,243,210
18) c2X2 1.0 A 0
30,243,210
6.796.500
19) 2ENB 1.0 Al 0
6,796,500
) 652,300,710
®SZ A -15, 132,000
637,177,710
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€ 7t 2o & 7 2o £ 7t 2o & 7t 2
426,154,935 311,524,070 107,037,119 7,593,746
20214 HEH MEf SR
426,154,935 311,524,070 107,037,119 7,593,746
251,310,586 251,310,586 169,374,918 169,374,918 81,613,872 81,613,872 321,796 321,796
1. AIXH 2 A
251,310,586 | 251,310,586 | 169,374,918 | 169,374,918 81,613,872 81,613,872 321,796 321,796
166,045,395 166,045,395 138,700,147 138,700,147 25,311,099 25,311,099 2,034,149 2,034,149
2. A\ 2ESA
166,045,395 | 166,045,395 | 138,700,147 | 138,700,147 25,311,099 25,311,099 2,034,149 2,034,149
3,583,438 3,583,438 3,449,005 3,449,005 112,148 112,148 22,285 22,285
3. ZFIAL
3,583,438 3,583,438 3,449,005 3,449,005 112,148 112,148 22,285 22,285
5,215,516 5,215,516 - - - - 5,215,516 5,215,516
4. S ZAF
5,215,516 5,215,516 - - - - 5,215,516 5,215,516
3,796,650 3,796,650 - - - - 3,796,650 3,796,650
5. H7|E28 X HelH|
3,796,650 3,796,650 - - - - 3,796,650 3,796,650
6,796,500 6,796,500 6,760,000 6,760,000 - - 36,500 36,500
[ =N a= NN |
6,796,500 6,796,500 6,760,000 6,760,000 - - 36,500 36,500
30,243,210 30,243,210 30,080,800 30,080,800 - - 162,410 162,410
7. =S Xt RERY
30,243,210 30,243,210 30,080,800 30,080,800 - - 162,410 162,410
A THS A
90,159,463 90,159,463 79,037,391 79,037,391 10,800,276 10,800,276 321,796 321,796
1-LR2ATHZA
90,159,463 90,159,463 79,037,391 79,037,391 10,800,276 10,800,276 321,796 321,796
130,139,770 130,139,770 81,104,060 81,104,060 49,035,710 49,035,710 - -
122 S AT S A
130,139,770 | 130,139,770 | 81,104,060 81,104,060 |  49,035710 | 49,035,710 - -
11,542,742 11,542,742 2,059,923 2,059,923 9,482,819 9,482,819 - -
1-3.X|T/E B AT B A
11,542,742 11,542,742 2,059,923 2,059,923 9,482,819 9,482,819 - -
19,471,803 19,471,803 7,173,544 7,173,544 12,295,067 12,295,067 3,192 3,192
1-4.7|E}EAF
19,471,803 19,471,803 7,173,544 7,173,544 12,295,067 12,295,067 3,192 3,192
251,310,586 169,374,918 81,613,872 321,796
|
251,310,586 169,374,918 81,613,872 321,796
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rul (JH Al-) |_H o A—|
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1
1-LR ST S AL
1
39 429,978 16,769,142 408,714 15,939,846 21,264 829,296 - -
2L 2(S2Y) H1.2 x W15 =
39 429,978 16,769,142 408,714 15,939,846 21,264 829,296 - -
43 807,838 34,737,034 772,015 33,196,645 35,823 1,540,389 - -
ES=] H2.5 x W1.2 ES
43 807,838 34,737,034 772,015 33,196,645 35,823 1,540,389 - -
5 154,019 770,095 96,141 480,705 57,878 289,390 - -
AdLs H3.0 x R8 =S
5 154,019 770,095 96,141 480,705 57,878 289,390 - -
17 101,350 1,722,950 63,643 1,081,931 37,707 641,019 - -
Of St H2.0 x R6 =
17 101,350 1,722,950 63,643 1,081,931 37,707 641,019 - -
26 426,650 11,092,900 327,786 8,522,436 91,790 2,386,540 7,074 183,924
O|ELIR H3.5 x R12 =
26 426,650 11,092,900 327,786 8,522,436 91,790 2,386,540 7,074 183,924
16 183,726 2,939,616 125,848 2,013,568 57,878 926,048 - -
A s H3.0 x R8 =S
16 183,726 2,939,616 125,848 2,013,568 57,878 926,048 - -
30 216,324 6,489,720 155,872 4,676,160 60,452 1,813,560 - -
A9 H2.5 x R8 ES
30 216,324 6,489,720 155,872 4,676,160 60,452 1,813,560 - -
26 143,693 3,736,018 115,524 3,003,624 28,169 732,394 - -
ERPSHCIZEE) H2.0 x W1.0 =
26 143,693 3,736,018 115,524 3,003,624 28,169 732,394 - -
28 425,071 11,901,988 361,517 10,122,476 58,630 1,641,640 4,924 137,872
2HE H3.0 x R10 =
28 425,071 11,901,988 361,517 10,122,476 58,630 1,641,640 4,924 137,872
90,159,463 79,037,391 10,800,276 321,796
E |
90,159,463 79,037,391 10,800,276 321,796
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1,830 8,991 16,453,530 5,903 10,802,490 3,088 5,651,040

= H1.0 x 37}X| =
1,830 8,991 16,453,530 5,903 10,802,490 3,088 5,651,040
1,670 4,013 6,701,710 1,998 3,336,660 2,015 3,365,050

Qs HO0.3 x W0.3 F
1,670 4,013 6,701,710 1,998 3,336,660 2,015 3,365,050
3,950 5,039 19,904,050 3,110 12,284,500 1,929 7,619,550

o[l HO.3 x W0.3 =
3,950 5,039 19,904,050 3,110 12,284,500 1,929 7,619,550
1,060 4,376 4,638,560 1,421 1,506,260 2,955 3,132,300

IS HO0.8. 57}X| =
1,060 4,376 4,638,560 1421 1,506,260 2,955 3,132,300
920 10,801 9,936,920 6,664 6,130,880 4,137 3,806,040

HHE H1.2 x W0.4 =
920 10,801 9,936,920 6,664 6,130,880 4,137 3,806,040
1,030 12,596 12,973,880 9,641 9,930,230 2,955 3,043,650

[WE=PN H1.0 x W0.6 ES
1,030 12,596 12,973,880 9,641 9,930,230 2,955 3,043,650
130 6,487 843,310 4,558 592,540 1,929 250,770

HEH HO0.6 x W0.3 =
130 6,487 843,310 4,558 592,540 1,929 250,770
670 7,664 5,134,880 4,709 3,155,030 2,955 1,979,850

o323 H1.2 x W0.3 =
670 7,664 5,134,880 4,709 3,155,030 2,955 1,979,850
1,460 3,922 5,726,120 1,907 2,784,220 2,015 2,941,900

HHE=Z HO.3 x W0.3 =
1,460 3,922 5.726,120 1,907 2,784,220 2,015 2,941,900
2,070 9,913 20,519,910 5,776 11,956,320 4,137 8,563,590

ZELt H12 x W06 =
2,070 9,913 20,519,910 5776 11,956,320 4,137 8,563,590
1,160 4,980 5,776,800 2,025 2,349,000 2,955 3,427,800

2oyt H0.8 x W0.4 =
1,160 4,980 5,776,800 2,025 2,349,000 2,955 3,427,800
1,290 11,262 14,527,980 8,174 10,544,460 3,088 3,983,520

oLt HO.8 x WO0.4 =
1,290 11,262 14,527,980 8,174 10,544,460 3,088 3,983,520
200 16,284 3,256,800 13,329 2,665,800 2,955 591,000

g EF0[(Atstat) H10x ZE =
200 16,284 3,256,800 13,329 2,665,800 2,955 591,000
100 16,284 1,628,400 13,329 1,332,900 2,955 295,500

g2%0 H10x ZE z=
100 16,284 1,628,400 13,329 1,332,900 2,955 295,500
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130 16,284 2,116,920 13,329 1,732,770 2,955 384,150 - -

g2%0|(540| E) H10x ZE = 0
130 16,284 2,116,920 13,329 1,732,770 2,955 384,150 - -
130,139,770 81,104,060 49,035,710 -

27 0
130,139,770 81,104,060 49,035,710 -

1
1-3.X| o/ &= eHR A TH S AL A
1

1,850 358 662,300 27 49,950 331 612,350 - -

7t} 8Cm =2 0
1,850 358 662,300 27 49,950 331 612,350 - -
5,360 598 3,205,280 267 1,431,120 331 1,774,160 - -

IEE 8Cm = 0
5360 598 3,205,280 267 1,431,120 331 1,774,160 - -
1,050 358 375,900 27 28,350 331 347,550 - -

=A4= 8Cm = 0
1,050 358 375,900 27 28,350 331 347,550 - -
1,580 358 565,640 27 42,660 331 522,980 - -

Zolme| 8Cm = 0
1,580 358 565,640 27 42,660 331 522,980 - -
4,210 358 1,507,180 27 113,670 331 1,393,510 - -

L 2E LA} 10Cm = 0
4,210 358 1,507,180 27 113,670 331 1,393,510 - -
670 358 239,860 27 18,090 331 221,770 - -

YRR 8Cm = 0
670 358 239,860 27 18,090 331 221,770 - -
1,560 358 558,480 27 42,120 331 516,360 - -

L2ox 8Cm = 0
1,560 358 558,480 27 42,120 331 516,360 - -
2,030 358 726,740 27 54,810 331 671,930 - -

OpEL2| 8Cm = 0
2,030 358 726,740 27 54,810 331 671,930 - -
5,400 358 1,933,200 27 145,800 331 1,787,400 - -

HoE 8Cm = 0
5,400 358 1,933,200 27 145,800 331 1,787,400 - -
780 358 279,240 27 21,060 331 258,180 - -

X 8Cm = 0
780 358 279,240 27 21,060 331 258,180 - -
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340 358 121,720 27 9,180 331 112,540 - -

= 8Cm =
340 358 121,720 27 9,180 331 112,540 - -
2,130 358 762,540 27 57,510 331 705,030 - -

Et 8Cm 2
2,130 358 762,540 27 57,510 331 705,030 - -
770 358 275,660 27 20,790 331 254,870 - -

T 8Cm =2
770 358 275,660 27 20,790 331 254,870 - -
269 358 96,302 27 7,263 331 89,039 - -

9Cm 2
269 358 96,302 27 7,263 331 89,039 - -
650 358 232,700 27 17,550 331 215,150 - -

8Cm 2
650 358 232,700 27 17,550 331 215,150 - -
11,542,742 2,059,923 9,482,819 -
11,542,742 2,059,923 9,482,819 -

1
Al
1

1,978 1,182 2,337,641 - - 1,182 2,337,641 - -

o
1,978 1,182 2,337,641 = = 1,182 2,337,641 - -
23,240 308 7,157,920 308 7,157,920 - - - -

mic e kg
23,240 308 7,157,920 308 7,157,920 - - - -
1,978 1,508 2,982,371 - - 1,508 2,982,371 - -

o
1,978 1,508 2,982,371 = = 1,508 2,982,371 - -
213 10,253 2,187,990 - - 10,253 2,187,990 - -

o
213 10,253 2,187,990 = - 10,253 2,187,990 - -
84 16,703 1,403,052 186 15,624 16,479 1,384,236 38 3,192

B80|3} =
84 16,703 1,403,052 186 15,624 16,479 1,384,236 38 3,192
2,060 763 1,571,780 - - 763 1,571,780 - -

H1.2~15 ES
2,060 763 1,571,780 = = 763 1,571,780 - -
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= 0 (JH A ) H o -|
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£ 7t s £ 7t s £t 7t Y £t 7t 3%
2,360 776 1,831,049 - - 776 1,831,049 - -
NES XEEXY, o
2,360 776 1,831,049 - - 776 1,831,049 - -
19,471,803 7,173,544 12,295,067 3,192
E |
19,471,803 7,173,544 12,295,067 3,192
1
2. AEESM
1
1 37,539,148 37,539,148 31,902,954 31,902,954 5,144,920 5,144,920 491,274 491,274
QA A1 A=44.3m’
1 37,539,148 37,539,148 31,902,954 31,902,954 5,144,920 5,144,920 491,274 491,274
1 23,575,609 23,575,609 20,201,140 20,201,140 3,089,993 3,089,993 284,476 284,476
oA QlC-1 A=31.8m’
1 23,575,609 23,575,609 20,201,140 20,201,140 3,089,993 3,089,993 284,476 284,476
1 44,865,769 44,865,769 37,995,298 37,995,298 6,261,051 6,261,051 609,420 609,420
24 2D-1 A=48.1m’
1 44,865,769 44,865,769 37,995,298 37,995,298 6,261,051 6,261,051 609,420 609,420
1 10,914,818 10,914,818 9,157,177 9,157,177 1,612,403 1,612,403 145,238 145,238
ot 2lE A=117m'
1 10,914,818 10,914,818 9,157,177 9,157,177 1,612,403 1,612,403 145,238 145,238
195 112,095 21,843,952 112,095 21,843,952 - - - -
T ES Nl H1,160xW2,000
195 112,095 21,843,952 112,095 21,843,952 - - - -
1 3,902,263 3,902,263 3,157,462 3,157,462 582,927 582,927 161,874 161,874
HAEYHA A=10.6m'
1 3,902,263 3,902,263 3,157,462 3,157,462 582,927 582,927 161,874 161,874
1 2,005,188 2,005,188 1,494,867 1,494,867 412,345 412,345 97,976 97,976
HEYHB A=8.6m
1 2,005,188 2,005,188 1,494,867 1,494,867 412,345 412,345 97,976 97,976
1 2,517,945 2,517,945 1,802,859 1,802,859 567,056 567,056 148,030 148,030
HEFAC A=55m"
1 2,517,945 2,517,945 1,802,859 1,802,859 567,056 567,056 148,030 148,030
1 1,591,047 1,591,047 1,212,894 1,212,894 306,268 306,268 71,885 71,885
HEYYD A=55m"
1 1,591,047 1,591,047 1,212,894 1,212,894 306,268 306,268 71,885 71,885
8 1,122,890 8,983,120 657,052 5,256,416 462,930 3,703,440 2,908 23,264
STSEUHA W400xH370xL1,560 &
8 1,122,890 8,983,120 657,052 5,256,416 462,930 3,703,440 2,908 23,264
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= (JH A ) H 0 -|
™ O o |_|- L = A
g A T 2 -] 4
3&4 T4 =g |t
& 2T =Y & 2T =9 & 2l =9 et ot = A
1,038,317 8,306,536 584,391 4,675,128 453,837 3,630,696 89 712
STSZMEB WA400xH370xL1,560 & At
1,038,317 8,306,536 584,391 4,675,128 453,837 3,630,696 89 712
166,045,395 138,700,147 25,311,099 2,034,149
e
166,045,395 138,700,147 25,311,099 2,034,149
EEIA
64,800 3,583,438 62,369 3,449,005 2,028 112,148 403 22,285
ZASIOAE =R T150
64,800 3,583,438 62,369 3,449,005 2,028 112,148 403 22,285
3,583,438 3,449,005 112,148 22,285
e
3,583,438 3,449,005 112,148 22,285
RS
374,202 374,202 - - - - 374,202 374,202
THAAFR A 3.0 x 4.0 x 2.6(371 )
374,202 374,202 - - - - 374,202 374,202
127,403 4,841,314 127,403 4,841,314
EHOM 20| T B850
127,403 4,841,314 127,403 4,841,314
5,215,516 - - 5,215,516
e
5,215,516 - - 5,215,516
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TS @I AM

2 7 T = bl w2y 3
239 72 2z e : B 1
£ 7t 2 o £ 7t 2 o £ 7t 2 o £ 7t 2 o
1
H7l2es 2 He| 4
1
42 57,317 2,392,984 - - - - 57,317 2,392,984
7|8 Ny Y278 ton 0
42 57,317 2,392,984 - = = - 57,317 2,392,984
75 2,508 186,996 - - - - 2,508 186,996
CHERC mﬂ 0
75 2,508 186,996 - = - = 2,508 186,996
75 16,318 1,216,670 - - - - 16,318 1,216,670
72 2l 158 gesy m 0
75 16,318 1,216,670 - = = - 16,318 1,216,670
3,796,650 - - 3,796,650
27§ 0
3,796,650 = - 3,796,650




